Ecuaciones de primer grado
1)3x—3+2(x—2)=x-3
2)x(x-2)=x"-4
3)4(x-1)-7(x—6)=5(x+6)

4)(5x—4)(8x—9)—(10x—9)(4x+3)=3(4-6x)—2

B)(x+1)° —(x—2)" -3=0; x=1
6)(x—2)(x+2)—(x-1)(x-3)=1 x=2
7)x2+8:(x+2)2
8)(x—2)" =(x-5)" -15
2(2x+2) x+1 x-1

3 4 6
1

9) -3=0; x=7

10)§(3x—2)—§(2x+3)—%(x—5)=—3; x=0

2Xx+1 3x+2 X

11) -———+—=0
5 10 2
12)4+§:E
X 2 X

13)x+3_x+4: x+5_x+6;X:1
4 5 6 7

14)6x+15=9x+13-5x

15)— t4-1-X1
6

16)5x+ 6=2x+12

17)2(4+x)_2(3—x) _X+6

5 3 2
18)X 1 2x-1 25
7 4
19)7+i 9+ — !
2X 2X

20)8(3x —2)—4(4x—3)=6(4x)
21)12(x—3)—3(2x~1) = ~11-5x

22)3(5x—9)-8(1-x) = 4x—4(1+4x)+39;x =2
23)3(x—7)—6(3-2x)=19—-4(2x+3);x=2

24)3x —11+ S?X =0

25) X~ 3—87":7—2"—%(4”2)

1) 3(x 1) 3
26) (3 —Ej—z(g—gjzz—o(ZX'i‘?))

27)x(1+x)—2(1-x*) = 2%’

28)(x—3)" = X* + 4x +29; X = ~2
ZQ)ﬂ—5x+8£x+lJ 4X+Q X=-2
3 2 3
2(X—5) _x+4
6 12

30)§+4—
4

Ecuaciones de segundo grado

Dx(x—3)+(x—2)(x—-3)+4=2(x-3)(x—4)—

2)3(x* -2)=21; x=+3
3)3(x—1)(x-2)=3x—-6; x=2
4)(x+2)(x-5)=8;, x=6, x=-3
5~ xz—lg’_o X=+2
6)x(x-1)-6(x~2)=0; x=4 x=3
T)x(x+4)=21 x=3, x=-7

2x° -1 x-1 1-x_ 1 2

8) - = ; X=——, X==

2 3 6 2 3
XD x=5_ 2 0y 1
2 6 3 3

10)(x-1)" +(2x-3)" =10; x=%, x=0

11)x+2—4(x—2)2:4; x:—%, X=2
12)x* —(x-1)(x+1)+ (x+1)2=l; x=-1
x? +2 2X+2
3
x? +1 2x +3 1

14) 2= ==0; x=0
2 6 4

13) =0; x=1 x=

15)(l—x)2 —(2x—1)2 =0; x=0; x:z

3
16)(3x+l)2—(x+2)2 =7, x=1, x:—%



17)5x* =0
18)3(1-x)(x+1)=3
19)2x% —11x—21=0
20)(x—2)" =3

21)3x° =27

22)x* +3x =4

23)4x* -32x=0

24)12x% —18=0

25)3(x* -2) =21

2x* -1 x-1_1-x,

2 3 6

27)%—%_5:2(x+1);x:—

28)4x% —32x =0
29)3(1-x)(x+1)=3
30)2x* -11x-21=0
31)21x-100=x*+21=0

32)§(x+%j =x-1
33)3(x* -2)=21
34)3(x—1)(x+2)=3x—6
35)2x* —1=1-x—x*

26)

36)(5x—3)" =1+11(4x+1)
2x* -1 x-1_1-x

2 3 6
38)(x—3)" +3x? =3x(x—1)+7
39)(x—1)2+(x—2)(x+2):x2

37)






